FIEFRETRAR—V D EAELABEBEFEY v h—KE (DEOE)

#AB8 : H30,11,10 () FEYU—F

H30,11,11 (B) REsb—F A2 b
215 BAAR—Y - 27

(F:&)—7]

AGN—7 |& BE | &K |[#xAz| B
A|TE
A2|Fg
L+ —
AR

Bon—7 BE | &5 |[#xAz| B
Bi[AhVEA—=
B2 A
B3 [BF

CHN—T |Fur—5|7x—=R — BR | 88 | &8 |#8%AE| JEX
alF Y A =3
7 X—& M
c3 STG

DInN—7 - BE | B85 | kA |#xsaz| B
iz ™ B M
D2 |5k R
D3 | Al %

(108]

AEwyF (LfD BEwF (#immERE)

No | B *H; IE HBhE |\, | Bt i, IE HEnE
1] 9%00] FE — mME Fii LA—=x | 2| 900|7x—=sm — STG |srE+—% FE
3| 950[LA—% — FH HE EE (4] 950] KR — HiE |[7FX—®E| STG
51040 BE — BHH TR Fit 61040 STG — Fuxr—3| KR i
7111:30| ®EE — LA—%| FE BH | 81180 HE — fhabmd| STG |[TUA—3
9(1220| A2 — FH | LA—=% FE  [10[12:20|7vx—5 — 7x—&m| HiE f=-hh&h
1113:10] B — »ver—x| @EHE A [12] 1310 = — KR | FUA—F|FX—EM
1311400 FE — %8B BH |hret—x|14[1400] EE — LA—%| =hEh kR
15| 14:50 - 16| 14:50|n>er—2 — FHE | LA—% HE

rfE Y i — R EER (4 1)




(RE: b—F A 2 F]

9
5 6
1 2 3 4
A-1 C-2 B-1 D-2 C-1 A-2 D-1 B-2
7 8
[118)
AEYF (L) BEwF ($ismERHE)
L v E | BB |y W% v TE | HE
1] 900 A1 — ¢2 A-3 c3 |3] 200 c1 — A2 B-3 D-3
2| 950 B-1 = D2 A-4 B2 |4 a50] D1 — B2 C-2 D-2
5| 11101 OBE — 20BE 1 OKE | 208KF | 6 | 1110]30OBE — 40BE SOKE | 40KE
7] 12001 DBeE — 208E D3 A-4 [ 8[1200[3mBkE — 4Bk B-3 c-3
9 [125050ME — 60BE We A-3

rfE Y i — R EER (4 1)




